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Calculus 2.
Final Exam

Date: Monday 30/6/ 1433 H.
Time: from 08:00 to 10:00.
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Q1. Definition
cosh(—x) = —coshx
(A) (B)
TRUE FALSE
Q2. Definition
The domain of the function f(x) = cothx is (—o0,0) U (0, c0).
(A) (B)
TRUE FALSE
Q3.
An antiderivative of f(x) = Vx5 is F(x) =§ V8.
(A) (B)
TRUE FALSE
Q4. Example 1, page A34.
1+3+94+27+81=
(A) (B) (©) (D) (E)
5 5\ 5 6 4
i - i i i
25 | 26) | 2.3 23
=1 =0 =0 i=1 i=0

Q5.

If f(x) =0 for each x € [a,b], then the definite integral fff(x)dx means

the area of the region under the graph of f and the x-axis from the vertical line
x = a to the vertical line x = b.

(A) (B)
TRUE FALSE
Q6.
If [ f()dx =2 and [ g(x)dx =4, then [’[f(x) +4g(x) + 5]dx =
(A) (B) (®) (D) (E)
21 —18 18 24 20




Q7.

Vs
j cosx dx > 2w
=TT

(A) (B)
TRUE FALSE
Q8. Problem 7, page 388.
x 1 , _
If g(x) =[] = 4t then g'(x) =
(A) , (B) . (©) ) (D) )
x“+1 - i : i C
Q9.
9
f sinh™'x dx =0
—9
(A) (B)
TRUE FALSE
Q10. Example 7, page 404
4
j V2x + 1 dx =
0
(A) (B) (©) (D) (E)
29 26 23 20 17
3 3 3 3 3
Q11.
2x%2 —~x +1
j dx =
X
(A) (B) (©)
2x° 2+1+C 2 2+1+C 2x? 2+l||+C
xX¢——+4- xX¢——+- x“——+In|x
Vx  x Vx  x Vx
(D) , (E)
2 _
% — = 4 Inlx| + C x% —2vx +In|x| + C
Vx




Q12.
jsec(Sx) tan(3x) dx =

(A) (B) (C)1 (D) .
sec(3x) + C —sec(3x) + C §sec(3x) L —§sec(3x) i,
Q13.
f (5% +5) dx =
™ ®) © ©)
xl X
2 icx4cC 5* In54+5x+C > s 5*+5x+C
In5 In5
Q14. Example 5, page 456
ftan_1 x dx = Hint:u = tan ' x and dv = dx
R ® © 2
xtan‘1x+51n|1+x2|+C xtan‘lx—51n|1+x2|+C xtan™x —In[1+x% +C
(D) (E)
xtan"'x +1In|1 +x?|+C . 1+ x2
xtan ™" x —In > +C
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Q15. Example 5, page 456
jtan_1 x dx = Hint: u = tan ! x and dv = dx
(A) . (B) ) (©€) 1 i
xtan‘1x+§ln|1+x2|+C xtan‘lx—zln|1+x2|+C xtan™ x —In|1 +x%| +C
(D) (B)
xtan"'x +1In|1+x?|+C . 1+ x?
xtan ™" x —In +C




Q16.

f cos3x dx = Hint: Use a suitable formula from the second page.
(A) (B)
12 11 12 11
— COS x sint?x + 3 sin“*x dx —— sm x cos1?x + e} cos " x dx
(C) (D)
12 11 12 11
—smxcos 2x + — | coslx dx —cosxsm 2y + — | sin*'x dx
13 13
Q17.
j dx Hint: U itable f laf h d
—— = t: t t :
x(z n 3x)2 m Se a sultable formula frrom the second page
(A) (B)
1 11 |2+3x|+C 1 11 2+ 3x +C
22+30) 9 | x 22+3x) 4 | x
(©) (D)
1 1 2+3x|+C 1 1l 2+ 3x +C
22+30) | % 32+3x) 4 | x
Q18. Problem 4, page 481.
. . .. 2x+1
The form of the partial fraction decomposition of T2 (218’ IS
(A) (B)
A Bx+C i B Cc D E
(x+1)2 ~ (x2+4)3 x+1  (x+1)2  (x+1)3  x%244  (x?%+4)?
(©) (D)
i B Cx+D Ex+F Gx+H i B Cc Dx+E Fx+G
x+1  (x+1)2  x2+4  (x24+4)?  (x2+4)3 x+1 - (x+1)2  (x+1)2  x24+4  (x2%+4)?
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Q19.
The form of the partial fraction decomposition of 2x+l IS
P P (x+1)2(x%+4)3
(A) (B)
A Bx+C i B C D E
(x+1)2 ~ (x2+4)3 X+l (x+1)2  (x+1)3  x%4+4  (x?%+4)?
(C) (D)
i B Cx+D Ex+F Gx+H i B C Dx+E Fx+G
x+1  (x+1)2  x2+4  (x24+4)%2  (x2+4)3 x+1 - (x+1)2  (x+1)3  x%24+4  (x2%+4)?




Q20. Problem 9, page 481

1
dx =
jx2+3x—4 X

(A) (B)
1 1 1 1
—§1n|x+4|+§1n|x—1|+C —glnlx—4|+§ln|x+1|+C
©) (D)
11| + 4| 11| 1|+ C 11| 4 11| + 1|+ C
5 n|x 5 n|x 5 n|x 5 n|x
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Q21. Problem 9, page 481
1
dx =
_[ x2+3x—4
(A) (B)
L+ 4]+ Slnfx — 1] + C Ll — 4] + Slnfx + 1] + C
c n|x z n|x c n|x c n|x
©) (D)
L 4] — Slnfx — 1] + C Ll — 4] — Slnfx + 1] + C
c n|x z n|x c n|x z n|x
Q22. Problem 1, page 465
jsin3x cos?x dx =
(A) (B)
sin®x  sin3x cos3x cos®x
5 3 3 5
©) (D)
sin3x  sin®x ic cos®x cos3x i
3 5 5 3
aia ) e Jpanllagle Cunt G caag 522 o8 Jlgall IS5 58 23 63 ) Jlgul
Q23.
jsin?’x cos?x dx =
(A) (B)
sin®x  sin3x ic cos3x cos®x i
5 3 3 5
©) (D)
sin3x  sin®x iC cos®x cos3x i
3 5 5 3




Q24. Example 7, page 464

j sec3x dx =
(A) (B)
tanx 1 secx 1
> +§ln|secx+tanx|+C > +§ln|secx+tanx|+C
(C) ) (D) .
secxtanx sec*x
———+ —In|secx +tanx| + C +C
2 2 4
aia p So Jpanllale cunti o iy 524 8 Jisall 5SS 58 25 635 Jisad)
Q25. Example 7, page 464
f sec3x dx =
(A) (B)
tanx 1 secx 1
> +Eln|secx+tanx|+C > +§ln|secx+tanx|+C
(C) . (D) ,
secxtanx
———  + = In|secx + tanx| + C >eC x+c
2 2 4
Q26. Problem 13, page 472
f V1 —4x2 dx =
(A) (B)

%[sin_l(élx) + 2x /1 — 4x2 ] +C

%[Sin_l(Zx) + 2x /1 — 4x2 ] +C

(®)
%[sec_l(élx) + 2x /1 — 4x2 ] +C

(D)

%[sec‘l(Zx) + 2x /1 — 4x2 ] +C
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Problem 13, page 472

27.
j V1 —4x2 dx =

(A)

1
5 [sin‘1(4x) + 2x /1 — 4x2 ] +C

(B)
%[Sin_l(Zx) + 2x /1 — 4x2 ] +C

(®)
%[sec_l(élx) + 2x /1 — 4x2 ] +C

(D)
%[sec_l(Zx) + 2x /1 — 4x2 ] +C

Q28.
If f(x) is continuous on (—o,3], then f_300f(x)dx =
(A) (B)
3 b
lim | f(x)dx limf f(x)dx
b—>—oo b b—>oo 3
©) (D)
b b
[0 i [ o
Q29.
=2
— ax is
L XV
(A) (B)
divergent convergent
(®)
neither convergent nor divergent
Q30. example 5, page 512
3 1
[—
1 (x—1)3
(A) (B)

diverges

converges to W




(©) (D)

converges to 3 3/2 converges to 3
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Q31. example 5, page 512
3 1
[
1 (x—1)3
Ol (B)
diverges converges to /2
(©) (D)
converges to 3 3/2 converges to 3
Q32. Problem 11, page 420.

The area of the region enclosed by the curves y = x? and x = y?, is

T1.5

T 0.5

15 05 1 15

+-0.5

(A) (B) (€) (D) . (E)

W =

Wl N
|
o |
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Q33.
The area of the region enclosed by the curves y = x? and x = y?, is




(A)

W =

(B)

w | DN

(©)

(D)

W |

(E)

w | Ul

Q34.

Problem 9, page 430.

By using the Washer Method, the volume of the solid generated by rotating
about the y-axis the region bounded by the curve x = y? and the lines x = 2y is

15
+1
+ 1| t + 2| t 4|.
(A) (B) (©) (D) (E)
61m 461 41 64n 21m
5 15 3 15 5
aix 2 e Jpaalladle cuad o iy 534 85 JIgadl IS5 58 35 685 J) gl
Q35.

By using the Washer Method, the volume of the solid generated by rotating
about the y-axis the region bounded by the curve x = y? and the lines x = 2y is

(A)

61m
5

(B)

461
15

(©)

41

3

(D)

64n
15

(E)
21m

5




Q36. Problem 10, page 436.
By using the Cylindrical Shell Method, the volume of the solid generated
by rotating about the x-axis the region bounded by the curve x = 1+ y? and the

lines x =0, y=1,and y=2is

a3 o Jpaalladle cuad o iy 536 8 JIgadl 1SS 54 37 285 J gl

Q37.

By using the Cylindrical Shell Method, the volume of the solid generated
by rotating about the x-axis the region bounded by the curve x = 1+ y? and the
lines x=0, y=1,and y=2is

(A) (B) ©) (D) (E)
23m 21m 197 17n 157
2 2 2 2 2
Q38. Problem 13, page 530.
The length of the curve y =In(cosx); where 0 < x sg is
(A) (B) (©) (D) (E)
ln(Z + \/§) ln(l + \/§) 1n(7 — \/§) 1n(2 — \/§) ln(\/f + 3)
aia ) e Jpanllagle Cuad o iy 538 a8, JIsall ) S5 58 39 285 J)sud)
Q39.
The length of the curve y =In(cosx); where 0 < x s% is
(A) (B) (©) (D) (E)
ln(Z + \/§) ln(l + \/§) 1n(7 — \/§) 1n(2 - \/§) ln(\/f + 3)




Q40.

Problem 4, page 537.

An integral for the area of the surface obtained by rotating the curve
x=+y—y? ;0<y<1 about the x-axis is

(A)

[t
Vs
0 Y y(1-y) Y

(®

1 1
21T
jo Y y(1—y)

dy

(D)
f127ry ; dy
0 4y(y — 1)

(B)
flzny ’ ! dy
0 yy—-1)
(E)
f127ry ; dy
0 wl4y(1 - )
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